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MASTER OF ARTS (ECONOMICS)
(MEC)

Term-End Examination

December, 2023
MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

20 each

1. What are the conditions of Pareto optimality ?
Discuss. Point out the main shortcomings of
Paretian analysis.

2. Explain the efficiency wage theory. How can it
explain the presence of unemployment and
wage determination ?

P.T.O.
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3. Consider a person having Von Neumann-
Morgenstern expected utility preferences over
lotteries. Discuss how she maximizes her
utility.

4. Suppose that individual i has utility of the
form :

u; (x; +v;(G)),i=1,2

Here G denotes a public good. Show that the
optimal provision of the public good will be
independent of the optional allocation of private
good.

Section—B

Note : Answer any five questions from this
Section. 12 each

5. Would you accept Baumol’s theory of sales
maximisation as a better alternative to the
usual profit maximisation models analysing the
behaviour of firms ? Give reasons in support of
your answer.

6. Explain how Shephard’s lemma can be used to
desire the production function from the cost
function.

7. Write short notes on any three of the following :
(a) Producer’s surplus
(b) Hotelling’s lemma
(¢) Second welfare theorem

(d) Translog production function



8.

10.
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A consumer has the following utility function

with income (M) and market prices Px and Py :

Using this :
(a) derive the indirect utility function.
(b) derive the expenditure function.
The marginal product of labour in a firm is
given by :
MPy, = A (400 - L)
(a) If the real wage 1s ¥ 60 and A = 0.2, how
much labour will the firm want to hire ?

(b) Suppose we increase the wage to T 75, how

much labour will now be hired ?

(¢) If A increases to 0.5 and wage is ¥ 80, how

much labour will the firm hire ?

Utility from wealth for a person is given by
u = In (w), where u is the utility and w is the
level of wealth. The person has a prospect of
good income of 4000 with probability 0.4 and
low income of 1000 with probability 0.6. How
much would she pay to insure against income

uncertainty ?

P.T.O.
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11. (a) Distinguish between pure strategy Nash
equilibrium and mixed strategy
equilibrium. When would you use mixed
strategy equilibrium ?

(b) Find all the Nash equilibrium of the
following game :

Player 2
Left Right
Player 1 UupP 5, 4) (1, 3)
Down 4,1) (2, 2)

12. Differentiate between any two of the following :
(a) Moral hazard and Adverse selection
(b) Merit goods and Public goods

(¢) Direct and Indirect utility functions
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